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5N5 - OPERATIONS SUR LES NOMBRES RELATIFS EXERCICES 4A

EXERCICE 4A.1

Compléter le [ ] par « - » ou par « + » :

EXERCICE 4A.5
Simplifier puis calculer :

(-6) + (-7)

L1607

(+8) + (+3)

[]8[13

(-5) - (+11)

[]50]11

(+4) - (-9)

14019

A = (+6) = (+7) + (-12) — (-4) + (+9)

ANREE

(-10) - (-17)

[110[]17

EXERCICE 4A.2
Simplifier puis calculer

(-5) + (+6)

B = (-11) + (-14) — (+31) - (-21) + (+30)

(+9) - (+14)

(+13) + (-7)

(-10) - (+21)

(+25) - (-8)

C=(1) + (-2) = (-3) + (4) + (+5) = (+6)

(-19) + (-4

(+3) + (+34)

S[@[~[®[=][0[5]®

(-7) - (-12)

(+6) + (-47)

D = (-23) + (+45) — (+67) + (+23) — (-45)

3 (-24) + (+15)

EXERCICE 4A.3
Simplifier puis calculer

E= ('711) + ('915) - ('211) + (+1I7) - (+4I3)

(_712) + (+411)

(+811) - (+815)

(+6I4) - ('512)

EXERCICE 4A.6
Calculer :

('411) - (+719)

('818) - ('717)

A=11-25-31+61-29

('4101) + ('213)

a
b
C
d
e. (+9,9) + (+6,6)
f
g9
h

. (+6,02) + (+9,003)

(-0,25) — (-8,75)

B=-15+41-72-50 + 84

(-9,103) + (-1,21)

Sl s
]

EXERCICE 4A.4
Calculer :

C=72-15+63-79-4,6

7+ 13 =

b. 9-17 =

6-7=

d.o+14 =

.14-8 =

f.-21+17 =

D=92-54+71-6,3-4,7

.31-19=

h.0-97 =

—~[a[o o [v

L-12-41 =

i. -53 + 53 =

k.67 -97 =

l. -45 - 34 =

E=83+72-65-0,7+65-4,1




	B = -15 + 41 – 72 – 50 + 84
	
	C = 7,2 – 1,5 + 6,3 – 7,9 – 4,6



